Problem Set #5


From Ksp to  Solubility





 
Calculate the solubility in M and g/L for each. Use the Ksp values found in your data booklet

1)  BaCO3
 

 

  

 

 

 

2)
Fe(OH)2
 

 

 

  

 

 

3)
PbCl2
 

 

  

 

 

4)
How many grams of Mg(OH)2 are required to completely saturate 1.5  L of solution?

 

 

 

 

5)
If 200.0 g of MgCl2 is required to saturate 1.5 L of solution at 20 oC, calculate the Ksp.

 

 

 

 

6). If the Ksp for Al2O3 is 2.8 x 10-8, calculate [Al3+] and [O-2] in  mol/L. 

CHEMISTRY 12     SOLUBILITY PRODUCT CONSTANTS WORKSHEET

1. 
Which of the following salts is



a) most soluble



b) most insoluble


(a) CaCO3          


(b) BaCO3          


(c) MgCO3
    

(d) SrCO3
    


(HINT : look up the Ksp values)

2. 
The solubility of TlCl is 0.975 g in 0.310 litres of water.   Determine Ksp.

3.   
The solubility of Ag3PO4 at 19oC in water is 4.7 x 10-6 M. 


Calculate Ksp assuming the only reaction to be 



Ag3PO4 (s)   SYMBOL 219 \f "Symbol"  3 Ag+(aq)  +  PO4-3 (aq)
4. 
The solubility of Hg2I2 in water is 3.0 x 10-7 grams per litre.


What is Ksp ?



Hg2I2 (s)   SYMBOL 219 \f "Symbol"   Hg22+(aq)  + 2 I- (aq)
5.  
Ksp for TlI has been found to be 4.0 x 10-8. Calculate the solubility of TlI in 



(a) moles/litre



(b) grams/litre

6.   
Calculate the solubility of PbI2 in 



(a) moles/litre 



(b) grams/litre

7. 
Ksp for Hg2Cl2 is 1.3 x 10-18. Calculate the solubility of Hg2Cl2 in 



(a) moles/litre 



(b) grams/litre



Hg2Cl2 (s)  SYMBOL 219 \f "Symbol"  Hg22+ (aq)  +  2  Cl- (aq)
Answers to Solubility Product Constants Worksheet (reverse side):

1.  a)  MgCO3
     b)  SrCO3
2.  1.72 ( 10−4
3.  1.3 ( 10−20

4.  1.0 ( 10−27
5.  (a)  2.0 ( 10−4 mol/L

     (b)  0.048 g/L

6.  (a)  1.3 ( 10−3 mol/L

     (b)  0.59 g/L

7.  (a)  6.87 ( 10−7 mol/L

     (b)  3.2 ( 10−4 g/L

